UNIK 5000
ST P TV
EHtY

UNIK 5000 AT Y (EE MR EDEHRICH L
I2I213E9 . Druck O3> %4te 7707 B OISR
BNEREN. AEN. M FUSLUBIREFTEZ
AIBEICLTVET . EZ1-IUEBLUBWAEERMIC L
THEBRORERROERCEBIGZU. FIeTERMN
BRICHEZRERSHIEVZLET

B

e [EAHL>S 7kPa(g) ~ 70MPa(abs)
o m=taE 0.04%FS BSL

o MEB ATILAMHY

e HFH MV, mA,V

o  BIEESUEHIRVIIHIE

o  ZREENMFITHIT

'

Druck

a Baker Hughes business

[fERRESER -55C~+125C
ISEEREL 3.5kHz (-3dB)
=ISHRE

BNRIIZEN

=MmES



UNIK 5000
Wmfter

EHAEAE

EALYS
o K : 7kPa (g) ~ 7MPa (g)
o 3—)LRY—=FE : 1MPa (sg) ~ 70MPa (sg)
o HEXIE : 10kPa (abs) ~ 70MPa (abs)
o EE
Wet/Dry : 7kPa ~ 3.5MPa
Wet/Wet : 35kPa ~ 3.5MPa
IME : 7MPa max
o R&JE : &/\ANH 350hPa
o J2-¥O-R-X

J>-P0-R=ZAOL>Z(CALTREH/FTHRVED
el (A

SFEIBKEN
IO ORFIECRIEZ S AR VFFEBKRIEN
o J—IE.I-IRS-JE. MXE.

=ZF (BEA +veih—hN)

FEAL>><15kPa : 10xFS
EAL>S<70kPa : 6XFS
RREL>D : 2xFS

EAL>>>70kPa ED=<7MPa
: min{4xFS, 20MPa}

EHL>T>7MPa : min{4xFS, 120MPa}
=E (RER —veR—H)
[EAL>2<15kPa : 6xFS
[E/HL>2<70kPa : 4xFS
EAL>T>70kPa  : min{2xFS, 1.5MPa}

{BUEK 1.5MPa

IBRED

T-JE. >-IRT-DFE. BT,
=E (EE/ +veR—K)
FEAHL>S=s15kPa(g)  : 10xFS
FEHL>S<7MPa(g) . 6xFS
[E£AL>2<7MPa(abs/sg) : 20MPa
[£/3L>>>7MPa(abs/sg) : 120MPa
=EE (ERER —veR—K)
min{6xFS, 1.5MPa}

WREELHNBE/ER
Bt R

AT BES
0

mV 2.5~12 10 mv/V? <2 at 10V

1 EARMERLE mV ) 7~12 10 mv/vVP <3

2 mA 7~28% 4-20 mA <30

3 0~5V 4wire 7~16%* 0~5V <3

4 0~5V 3wire 7~16% 0~5 V8 <3

5 EROEL K 3wire Xx~16% LUTFER <3

6 0~10V 4wire 12~16* 0o~10V <3

7 0.5~4.5V L3AXNY) 5+0.5 0.5~4.5V <3

8 HEREY/EROH DB 4 wire  7~36 LUTFER LUTESR
9 EBOEHMER 3 wire 7~36 TS LTS’

b 10Vdc BIREEDHE FS HF(d 100mV ERDFET , HHBEFEREBEOEEOFEZE
Z(3F T, 35kPa LUFOL> (& Fs HANEAL>SICHAILET . (B : 7kPa L>SDRA
HAHBEE 2mV/V ERDET, 10Vde BERORAENDEREE 20mV E30FET, )

§ 3wire OHBE. COEHOREINTRC ov FTFADERA. TO-ATEYNE 50mV L
To

# FEBSIRMEAR(E 32V EFTEINITEZEY,

x : max{ERAHADEE+1Y, 7v)  (fl : 1-5v HODBE 7v, 1.8V HADHBE 9v)

HAOEERE/ ERDOHNIBR 4 wire (A7°33>
8) REBDHANIE 3 wire (AT'>3> 5, 9)

HADRMERICIEETEET BUATORMAFZTSR
FUEVIER A,

EROEL IR EBOL IR
A723> 5 #A723> 8,9
BN 4V 2V
BAZIY 1oV 20V
H IR 11V +10V
BATO-ATtyN Span/ 2 (R/2) £Span (ZJ1>)
SHEER <3mA <20mA@7Vdc, <5mA@32Vdc EiR "
REstih 8] a]*
B ERE +125°C +80°C

HAHEEE 0.1v B[ TIEEDIBE,
HHEEE 110%FS [ENETRIGLET

b AT 8L 9 DIHE. BEIZAROZZAERHI 300mA
# REEEHDBE. v MRS HDET,

HABBEOH
AT2a> Gl AE]
47235 0~5V 14V (RICDVNETES)
EEOEE H#ER 0.5~4.5V 4~11V (EO-ATRYMAZTTES)
3wire 1~6V 0.123~5.432V (NS 24T L35
ETERL)
1~11V
AT33> B HEREY/MER  -10~0V 0~12V (EPR+10V Z2BZTB)
OETIERL 4 wire 0~5V 6~10V (P0-ATLYMIAETES)
& 545V 0~0.5V (R/CANETES)
#7339 EROEN — o
18hk 3 wire
1~6V
10~0V
KO- - PYII5HE

e mV, V, mA EHMEBEDIEE B (AT>3>
5) 947 : 10ms

o IEFE/MEEROLIER (AT>3> 8) IEED
H I8 (AT>3>9) 447 : 500ms

e 500Vdc : 100MQ

e 500Vac: s5mARNER (mVEmMAHDIA
Tnd)



v MRIEHEEE
A MRIE#ERE(ED D21 —23> Do CAE
ENTVET FFEDIHFZIEIET D ECLDHDE
BEBBLT 80%FS LU, U ETORAROMEZZNT
AFT ., COHEEET mv HAOLiERE/ERICHEBRREN
e hot Y CoHmERENET,
{BU. DIN & M12x1 ESUEHIRIA(EZDHEREN D
hFEEA (AT23>7,D,6)
S MRIEVEBEIIA T O E TR TEX T,
e mV 77 : Shunt Cal E>%-ve Supply (CHEfE
o HIERELMER DL SIMER

Shunt Cal E>%-ve Output (CIE#E
FEC - REHDDIEE. COMEBENERNCRDE T,

TERE{EER

TEREEAR(E 3 FRAAC N IREE(LAR, FBREM) E{E
B ILZ7 MEBRDSDET .

BE GFERME+EATYS R +IE0IEUE)
o VN mA LT, ERRIEMIE mV B

- 1R%E +0.2%FS BSL
- f8EmLE  £0.1%FS BSL
- JLI7 A +0.04%FS BSL

o EIRRMMIELZLY MV
=7MPa
- B#EE/FBEMLE  +£0.25%FS BSL
- JLE7V L N/A
> 7MPa
- BEE/fEEmLE  +£0.5%FS BSL
- JLE7V L N/A

£O- ATy bR ERTE
N)1—L-T7ICRABIRERBERIE G IRIS 94T (A
723> 0,7, A) FRIZEFZTU TE5%FS Tl
EiTEEYS . MBL. mV HHIT0IGE, TiHtE#
OTO-ATY b RARETEFE A

TiREREE
) QBSHERIRYS- 54T B
V i, mA i
s+ I35 KRUR1— A
POCARHERBRERITY

¥EEE £/TVIT I
+0.5 %FS  +0.2 %FS

B4

V . mAEH +1.0 %FS 1.0 %FS
ERDANUA BT RE R BB SUERT IR

ERCE )

mV £ +3.0mV  +3.0 mV

RIREMY

+0.05%FS/4E(typical). +0.1%FS/4E(max)
{BU. 35kPa EHBOL>SEFEALYSICRIAILT
EHILES,

IREETIE

mEEE(E 4 D(CHIMNTVET,

s/ SR SAENRE EA A DAV
-10~+50C £0.75%FS TEB +0.5%FS TEB
-20~+80C +£1.5%FSTEB £1.0%FS TEB
-40~+80°C +£2.25%FS TEB +1.5%FS TEB

-40~+125°C +£2.25%FS TEB +1.5%FS TEB
{BU. 35kPa FKiEDL>TIFENDL I EEFILTE
muEd,

Fle. KKELDIOOVWTIEENEN LD 2 fE0fE
MMEARERDFE T,

SAVERE (EELOSDH)

£Oo-32Jh : +0.03%FS/100kPa 51 >
A>Tk : +0.03%FS/100kPa 51 /£

{BU. 70kPa KimDL > SEEHL > S(ICREEFIL TEED
LEY,

BiE

MIRIZ T
o BIUEHDFHAZESIR

o EFHEES : &K 2MPa

SRR SR

BRIEHOGRAZESIR

BETEE

e H—SHE.J-IRF-SE.BUE. EXE
(wet/wet) : SUS316L & Hastelloy C276 (GE&S
9D

e = (wet/dry) : SUS316L. Hastelloy C276.
)3, N UWIRETRFIEE T DR

NOSYIE

AFOLA (RF4)  ZNJ=)LR(ESVT->-04 (0
> HATwR) (EpDM (HRZybh, TvITR-0—
>) PTFE (RUK-Tq)LA)  ZwT)b-Xy+Eifk (O
w-US) | HSAADFAOY (BRIEHEIRIST T
v>JU) (T GyIR-0-D) .
T=0)-Svry OB DV TEEBRIER IR %

73
=g,



EHMEF
- G1/4(F)*
- G1/4(M) flat
- G1/4(M) 60° internal cone
- G1/4(M) flat long
- G1/4(M) flat with snubber
- G1/4(M) flat with cross bore protection
- G1/4(M) with nipple
- G1/4 quick connect
- G1/8(M) 60° internal cone
- G1/2(M) *  (BHENLTITI%ENT3)
- NPT1/4(F) *
- NPT1/4(M)
- NPT1/8(M)
- NPT1/8-27(F)
- NPT1/2(M) * (&tganz7d 75 N9%)
- 7/16-20 UNJF(F) *
- 7/16-20 UNF(M) short flat *
- 7/16 UNF long 37° flare tip *
- 7/16-20 UNF(M) 74° external cone
- 3/8-24 UNJF
- 1/4 Swagelok bulkhead
- M10x1 80° internal cone
- M12x1 60° internal cone
- M14x1.5 60° internal cone
- M20x1.5(M), 73 3mm
- M20x1.5(M), 71 8mm
- Depth Cone (G1/4 female open face)
- M12x1 74° external cone
- Quick Release Male
- VCR1/4(F) *
- VCR1/4(M) *
- NW16 flange
- R3/8
- R1/4
75T : 7MPa KD EOFEAL DSBS, # TY-ISNIF2EIRL
TFEL,

ERiER

- ERUEGE fEFRE £0-2/0>
BHS &G REE
0 JxR95912U -55~125C - aJHEe
1 T=J-J32R -40~80°C 65 AE]
2 LA L-r=J) -55~125°C 65 AE]
3 RUILS> -40~80°C 68 Ar]
KAIsto =
4 Hytrel /K75t —JJIL  -40~80°C 68 =)
6/E MIL C 26482 %94 -55~125C 67 Au]
7 DIN 43650 J+%9%4 -40~80°C 65 aJHEe
(G OZVEI)
A/F MIL C26482 O%945  -55~125C 65 aJHEe
GOV
C 1/2” NPT J>2vh -40~80C 67 Au]
D Micro DIN -40~80°C 65 AH]
(9.4mm EvF)
G M12x1, 4E> -55~125°C 67 AH]
K Low Smoke Zero -40~80C 65 aJHe
Halogen 7—JIL
(ERhA+UaTEE
N Kynar KAzt —JIL  -40~80°C 68  Am]
R M20x1.5 />34~ -40~80°C 65 BHE
JEED

o EFEY/ERE S (AT2308) RUMEREH (AT23>9) (3E
FPREN 80 CEHFTLRIRENET.

o B5IRI1 T MERIREEFEN-40~80 CICHIIRENET .

o BRUEHYAT R @ IP65 3OSy MU —T I I1974 > DIEF
ZRIRELET.

o MV HADKBE, TIHHEEROTO- ATty b/ FEART]

o KAEHT =TI (AT33> 3, 4, N) H1TOEHEKEEIAREL T
ERINGE . BRFKNRDEC YOIV IS LNIA-S%F
FBHENNBOET

CE i&&1E., SRS

e ROHS 2011/65/EU

e Pressure Equipment Directive 2014/68/EU:
Sound Engineering Practice

e ATEX 2014/34/EU (Optional)

e EMC Directive 2014/30/EU

e BS EN 61000-6-1 : 2007 /Z1=7 (-8 1%

e BS EN 61000-6-2 : 2005 /Z1=7¢(-EE13

(mV HH51T7%85)

e BS EN 61000-6-3:2007+A1:2011 I=v>3>
BRI

¢ BS EN 61000-6-4:2007+A1:2011 ITzv>3>
-ET

¢ BSEN 61326-1:2013
BT %

e BS EN 61326-2-3:2013 [£H M2 RT1-HD
¥EZEKEIR

STRI, HIFE. RUSEER

B5IREREE (AD°>3Y)
— % :
o IECEX/ATEX Intrinsically Safe ‘ia” Group IIC
e INMETRO Intrinsically Safe ‘ia” Group IIC
e NEPSI Intrinsically Safe ‘ia” Group IIC
e FM Approved (Canada & US)
Intrinsically Safe Exia Class I, Division 1,
Groups A, B, C & D and Class I,
Zone 0 AEx/Ex ia Group IIC; Single Seal
#hZE
e IECEX/ATEX Intrinsically Safe ‘ia’ Group I
e INMETRO Intrinsically Safe ‘ia” Group I
7EiC : HAERNTERAEN O R ik H R MOIRTTE
AE]




BEREROEVERE, T-T )&

Jry5TESE 23> HHESI1T
: V(3-wire)  V(4-wire) V (E&E V (ERHD my

JEEHH  3-wire)

4-wire)
Molex 0 1 7% +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
28 - +ve Output +ve Output  +ve Output +ve Output +ve Output
3% - - -ve Output  -ve Output 0V common -ve Output
45 -ve Supply 0V common -ve Supply  -ve Supply 0V common -ve Supply
5 1 - - - Shunt Cal Shunt Cal Shunt Cal
6% Case Case Case Case Case -
Polyurethane 1,3,4,C, Pin +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
Cable, N = - +ve Output +ve Output  +ve Output +ve Output +ve Output
Hytrel Cable, a - - -ve Output  -ve Output 0V common -ve Output
Kynar Cable =] -ve Supply OV common  -ve Supply  -ve Supply OV common -ve Supply
& - - - Shunt Cal Shunt Cal Shunt Cal
% - - - - - -
A)=> - - - - - -
Raychem cable 2 IR +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
=] - +ve Output +ve Output  +ve Output +ve Output +ve Output
% - - -ve Output  -ve Output 0V common -ve Output
5 -ve Supply 0V common -ve Supply  -ve Supply 0V common -ve Supply
=2 - - - Shunt Cal Shunt Cal Shunt Cal
A9=> - - - - - -
Bayonet 6, A A +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
B -ve Supply +ve Output +ve Output  +ve Output +ve Output +ve Output
C - - -ve Output  -ve Output 0V common -ve Output
D - 0V common -ve Supply  -ve Supply 0V common -ve Supply
E - - B Shunt Cal Shunt Cal Shunt Cal
F - - B B N Shunt Cal
DIN, Micro DIN 7,D 1 +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
2 -ve Supply 0V common -ve Supply  -ve Supply 0V common -ve Supply
3 - +ve Output +ve Output  +ve Output +ve Output +ve Output
E Case Case -ve Output  -ve Output 0V common -ve Output
Bayonet E, F A +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
(U.SAHHRE>ERE) B - 0V common -ve Supply  -ve Supply OV common -ve Supply
C - +ve Output +ve Output  +ve Output +ve Output +ve Output
D -ve Supply - -ve Output  -ve Output 0V common -ve Output
E - - - Shunt Cal Shunt Cal Shunt Cal
F - - - Shunt Cal Shunt Cal -
M12 x 1 G 1 +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
4-pin 2 - +ve Output +ve Output  +ve Output +ve Output +ve Output
3 -ve Supply 0V common -ve Supply  -ve Supply 0V common -ve Supply
4 Case Case -ve Output  -ve Output 0V common -ve Output
Zero Halogen Cable K %7} +ve Supply +ve Supply +ve Supply  +ve Supply +ve Supply +ve Supply
=] - +ve Output +ve Output  +ve Output +ve Output +ve Output
® - - -ve Output  -ve Output 0V common -ve Output
5 -ve Supply 0V common -ve Supply  -ve Supply 0V common -ve Supply
7 - - - Shunt Cal Shunt Cal Shunt Cal
&= - - - - - -
A)=> - - - - - -
M20 x 1.5 R +ve +ve Supply - - - - -
234>

-ve -ve Supply - - - - -




A—5 -5

(1) BTN ESHER
BT

PMP V HAEDNSDRT1-Y
PDCR mV HAEHNSYRT1-Y
PTX 4-20mA HHDEHN RS ZAZYA
K@) -4
UNIK 5000
IMEEME
0 25mm Stainless Steel
BRE X6
D950 5F 7
T=JI-I3>R RIILA>-r=T)
LAT L=
RNIILE> =TI (KAIEt)
Hytrel =2J)L (KAzEt)
MIL-C-26482 (6-pin Shell Size 10) (XAF4>% - I%I473I58)
DIN43650 Form A EROINUETEERAAT (XAT4>Y - IRIFE)
MIL-C-26482 (6-pin Shell Size 10) EROINBTRERIAT (XAT4>47 - DRH5BIFE)
1/2" NPT J>2wh (RUDILA> -4 =T)L)
Micro DIN (9.4mm EYF) (AAF4>4J -23:99{%)
MIL-C-26482 (6-pin Shell Size 10). U.S.AARESERE (XA T1>% - IRI5RI5E)
MIL-C-26482 (6-pin Shell Size 10) ERDFMNATEEIRGA T, U.SATHRESERE (AT - ARI55I5E)
M12 x 1 4-pin male (XAF4>4 - J%95910)
Zero Halogen #—J)b. BRI EIRER (T
Kynar &—=JJl (KAizst)
M20x1.5 4234 XZX>Dyh, BN RTRERD1T 5% 8
HOTES
mV Passive 4-wire (PDCR) & 1
mV Linearised 4-wire (PDCR)
4 to 20 mA 2-wire (PTX)
0 to 5V 4-wire (PMP)
0 to 5V 3-wire (PMP)
Basic Configurable 3-wire (PMP) , i : 1 to 5V
0 to 10V 4-wire (PMP)
0.5 to 4.5V Ratiometric 3-wire (PMP) 3 5
Isolated/Configurable V 4-wire (PMP) ¥4, 5
Configurable V 3-wire(PMP) ¥ 4, 5
HEREEEH
TA -10 to +50°C
TB -20 to +80°C
TC -40 to +80°C
D -40to +125°C ¥ 2,5
TEE
Al i
A2 tEEMLE
A3 JLITLA
HERRRAE BT Y
CA £o/ZN> T4
B =EERIET—Y (HHIZ—F-%)
CC /mrlj— T /;
R EERRIET—4 (WAEAET—S)
I AERLME T 6
| HO None
| H1 IEC Ex/ATEX Intrinsically Safe ‘ia’” Group IIC
H2 IEC Ex/ATEX Intrinsically Safe ‘ia” Group I
I H6 FM (Canada & U.S.) Intrinsically Safe ‘ia” Group IIC/ABCD
| HA IEC Ex/ATEX Intrinsically Safe ‘ia” Group I/IIC [H1+H2]
| HS IEC Ex/ATEX/FM (Canada & U.S.) Intrinsically Safe ‘ia” Group I/1IC [H1+H6]
| J1 IEC Ex/ATEX/NEPSI Intrinsically Safe ‘ia” Group IIC
| JA INMETRO Intrinsically Safe ‘ia” Group IIC
JB INMETRO Intrinsically Safe ‘ia” Group I
I JF INMETRO Intrinsically Safe ‘ia” Group I/IIC [JA+]B]
I FESIMTF
| PA G1/4 Female 3 PN G1/2 Male via adaptor ¥ 3 RA VCR Female %3, 9
I PB G1/4 Male Flat PQ G1/4 Quick Connect RB G1/4 Male Flat with Snubber
PC G1/4 Male 60° Int Cone PR NPT1/2 Male via adaptor ¥ 3 RC G1/4 Male Flat with Cross
: PD G1/8 Male 60° Int Cone PS 1/4 Swagelok Bulkhead Bore Protection
I
I
I
I
I
|
v

OVCoONOOUTA,WNEFEO

PE NPT1/4 Female % 3 PT G1/4 Male Flat Long RD M12 x 1 74° External Cone
PF NPT1/4 Male PU 7/16-20 UNF Long 37° flarei* 3 RE Quick Release Mount

PG NPT1/8 Male PV 7/16 UNF Female RF VCR Male 3* 3, 9

PH M20x 1.5 PW Depth Cone (G1/4 Female open face) RQ NW16 Flange

PJ M14 x 1.5 60° Cone PX 7/16-20 UNF Male Short Flat RT 1/8-27 NPT Female

PK M12 x 1 Internal Cone PY 3/8-24 UNJF RU R3/8 Male

PL 7/16 UNJF Male 74° Ext Cone PZ M10x1 80° Internal Cone RV R1/4 Male

| RW G1/4 Male with nipple

v 4 \ 2 4

2 - - A2- CB- HO- PA Typical Model Number

I
|
|
|
|
I
|
|
|
|
|
I
|
|
|
|
|
I
|
|
|
|
|
I
|
|
|
V

P

v

0
1
2
3
4
6
7
A
C
D
E
F
G
K
N
R
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
v
PTX 7

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
8




SE 1 JLIPLARE

2 BRIBEHIRIIEATS30, 2, 6, A, E, F (& G DFHEIRT]

7 3 7MPa D EDEAL > SDHEFIOMFZERLTTFEL

x4 RREMERE 80C

SE 5 BRI TR

E 6 BAERNTERBNOIREIERE], BRIERIRIICLTHENT ZARBLZRBIRIUSHERDET,

BREIRIY

94> 0 1 2 3 4 6/[E 7 AF C D G K N R
HO o o o o o o o o O o o o o O
H1 o o o o o o O O O O O x x O
H2 O x O O O O x x 0O x O x x x
H6 O o o o o o O O O O O x x O
HA O x O O O O «x X O x O x x X
HS o o o o o o o O O O O x x O
J1 o o o o o o o O O O O x x O
JA o o o o o o o O O O O x x O
B O x O O O O x x 0O x O x x x
JF O x O O O 0O x x 0O x O x x x

ST 7 (B ER AN TARATR CERIL TVES . BIRARICHERN T 1P SARICEHLT T 0 Sv— &0 7 SHRE—#(CEALRNENTE R A,
S8 WHATIAY 2 0.
¥ 9 50MPa I FOEAL>SDIBEDH.

(2) ERNVLOSEEAIZIEE
fll : 0 to 100 kPa, -5 to +5 psi
IEEOJRE/REEAT : bar, rpbar, psi, Pa, hPa, kPa, MPa, mmH.0, cmH>0, mH>0, inH20, ftH-0,
mmHg, inHg, kgf/cm~, atm, Torr

(3) UI7L > RAIE I DIEFEZIETE

5 : gauge

IBEDIRERI7L > AES
gauge J->E sealed gauge = RG-Z
absolute HEXIE wet/dry differential D1vh/RIAZEE
barometric ARUE wet/wet differential D1/ D1y hEE

(4) T=JIVREBMNZIETE (BBEDH)

(5) BHAT3> 8 X(E 9 HBERUIBE. COENEOLEIIL - RT—IVENEOE H%EIEE
& : £ -1 to 9V

FA—4—-BI D
PTX5012-TB-A2-CA-HO-PA, 0 to 10 bar, gauge, 3 m cable
PMP5028-TD-A3-CC-HO-PE, -15 to 75 psi, gauge, 15ft cable, output voltage -1 to 5V
PDCR5071-TB-A1-CB-HO0-PB, 0 to 100 bar, sealed gauge

7oy — B ER o

202-034-05: STE iigzkAwIX UNIK5000 BT 1ZHAINRILA—=4

600-914 : STE RgZI&T L)) AM-756-HS (EB&m@ES U8-0830-xxx)
222-117-01: KAETHED (G1/4F [CEROAHF) e BAFE 51/2 M7

222-179-01: JKAEHATFYIAI-> WAZR 5 1/2 1 .
163-009 . MIL-C-26482 FOXAT(>1 - o« TOURAEIRERNE 10V, 12V, 24V 1-H3%7FE "]

x4 (BRIEHRIRIY - AT>3> 6, A, E, and F)
ARD9 =T -7E>ITVU—
(1) BTN ESZIER

o T HEAEAHENEIBE 0.1%FS
o SMIZ~TiE H 48mm x W 96mm x D 102mm
U8-0830-J

UNIKCABLE -[- L— t#&th
Lo »—J)148 0 L
1 RUILA> AF2a>
2 LA 0 #\L
BEOARIYAE 1 ANERHIAED
6 MIL-C-26482 4 TFOITHF+AEBEHIE
7 DIN 43650 EiR
D Micro DIN 1 AC 100~240V
i G M12 x 1, 4 pin 2 DC12~48V
(2) T=JIVREEIZIBTE (BBEDH)

B 1m, && 200m

SER T IJIEERSIDRMYMENET,




Mechanical Drawing

|
” 25 TYP
Tl o

H HH oee ¢25 @HBEDZ
MALE PRESSURE CONNECTION HIGH PRESSURE CONSTRUCTION
(AL RANGES: » 70 bar TO «- 700 bar)
CABLE GLAND W ITH POLYURETHANE CABLE

65 21 TP

\5.5—‘—-‘ }j7 j’k

g5 g = (@)

J J;
RAYCHEM CABLE

EERTARFI

MED IUM PRESSURE EONSTRU[T\ON
(INDUSTRIAL RANGES: >= 1 bar TO < 50 tar)

e 89.5
1o ﬁ \5.5#—«»1

fo——60

&
sy

— ]
o

DEPTH CABLE
DEPTH CONE LOW /MEDIUM_PRESSURE CONSTRUC TION

(INDUSTRIAL RANGES: < 1 bar, >= 50 bar 10 < 70 bar)
PRESSURE ADAPTOR (IMPROVED AN PREMIUN RANGES: <= 70 bar)

| a— )
g5 15.5 BOTH ENDS

POSITIONS OF ZERD AND
SPAN POTENTIOMETERS. | (9
72 28
OPTIONAL PRESSURE
ApapTOR! | ‘
WET/WET & WET/DRY
(WET & WEr DIN 43650 FORM A DEMOUNTABLE
CONSTRUCTION
qi
= 80
42
NOTES:
32
[1] DIMENSIONS SHOWN ARE FOR STANDARD LENGTH PRODUCTS W ITH THE FOLLOW ING
ELECTRICAL OUTPUT OPTIONS: o
PDCR (LINEARISED)
PTX
PMP (BASIC) P25 =
FOR PDCR (PASSIVE) - SUBTRACT 10mm l L

FOR PMP (CONFIGURABLE) - ADD 15mm
CONDUIT W ITH POLYURETHANE CABLE

[21 REFER TO PAGE 3 FOR LIST OF PRESSURE CONNECTION OPTIONS (22 A/F)
(ORIENTATION NOT CRITICAL)
39
47—
_ 33.45
s @25 15.5
P25 ® Bub L
ZERO HALOGEN CABLE DEMOUNTABLE MICRD DIN (9.4 mm)

M20 x 1.5 INLINE FEMALE
CONDUIT DEMOUNTABLE

ﬁ 15.5
& |
b

BAYONET MIL-C-26482

NON-DEMOUNTABLE BAYONET MIL-C-26482 M12x1 4-PIN
DEMOUNT ABLE

Baker Hughes S3
Druck.com/jp

BEA-H-t1-AkREtt
RIVIBEARD

Vi ff T 104-0052 waheyoo
ABTIZINE Y-  RRERXAS 4-16-13
A=) TOBRIEE BHJapanComms@bakerhug hes.com Copyright 2019 Baker Hughes Company. &A&(C(d, 1HE EdBaker Hughes Companyds KU ZDRE

SHOBHOBREHENEFTNTNEY ., ABTERT D TOMOEELB LUHRBZFTNTNOREED

BIETY. * (&1 HEMUEDBaker Hughes CompanyDESREIZE TY . 2TOHEBLUINE. ABOLHAS

FFERBUCEEENZIENBET . AEBFZFEXOSEERTHY, HICREBRMESEENET .
920-483L_JA-D



https://qrco.de/bd6pc5

	UNIK 5000

